(EFHIEREYETIL(RHAEESHY)

DHAEHHRE BEH =X w"E KNEENAFHKEE AR
YHER VHER 120,000 |FH BAGEH 100|#
ANEH
LCN--Xii] BAR=E &t
AERHE BLHE 110,000 |FF K 300|FF/kW 4 1200 FH
& AZE 110,000 |FH EEM FHA/kW 2 0FH
B AR % 1R 10 |&R8 B 1,200 FH
&7 2.0 |% TR E, FER
VEEEBEAFRIE | 100,000 |FH 1000FF x 10044
BCES 10,000 EEEES | 10000]FH
wHEE FH
BEEIA F AR A 12,000 |FH/& KIS 5 EF R
A | 10 |[FA/A-# HABH 100
FIFAH 100 |# BAEHA 1,000(FFH
228 SEC| 10 |& FIEH BEARE §
BEIEH 10 |& BREE 23|M/kWh 4 92 M/H
FIT# 5 B F/kWh REITE 34| /kWh 7 238 M/H
BREXHE THEEH 0 |FR/%=E B 330 A/H
EXi 0 |M/m2 S EIE % & 10 ¥M/A
A& 1,000 | FFA/% XFIRHEICL>TRENRLD0. —RIHAELTE
— = - fb{e
ATFURE 1.0 [% BEREBEDIWEHRT o
HE(RRHSE) 0.3 |% BERBDIIWNEET
—BERE 10.0 (% EEEDI0%ERTE
EENEH 17 |=
EE & EFR % [ElE & Ef
EANRE 40.87 |% EMFrE
i} Bfr: FM
RETEE 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 200 &&t
VHRE 120,000
EER 120,000
PN 112,000] 12,000] 12,000] 12,000] 12,000] 12,000 12,000 12,000 12,000 12,000 0 0 0 0 0 0 0 0 0 o] 220,000
=5 12,000] 12,000 12,000 12,000 12,000 12,000 12,000] 12,000 12,000 12,000 120,000
EEAE 100,000
*H 22606] 19811 17,393 15296] 13473 11,881 10487 9,261 8,177 7,213 0 0 0 0 0 0 0 0 0 o] 135598
BN 2,150 1,948 1,742 1,532 1,318 1,099 876 649 117 180 11,911
ANEE 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 10,000
AUTFURE 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 12,000
HE (REHS) 360 360 360 360 360 360 360 360 360 360 3,600
—REIEE 256 256 256 256 256 256 256 256 256 256 2,560
EAmE AN 17,640] 15,047 12,835 10,948 9,339 7,966 6,795 5,796 4,944 4,217 95,527
BEEEER 0 0 0 0 0 0 0 0 0 0 0
IR EA 89,394] -7.811] -5393] -3296] -1473 119 1513 2,739 3,823 4,787 0 0 0 0 0 0 0 0 0 0
EATE 36,535 0 0 0 0 49 618 1,119 1,562 1,956 0 0 0 0 0 0 0 0 0 0 41,841
GBIk MEa 52859 -7.811| -5393] -3296] -1,473 70 895 1,620 2,261 2,831 0 0 0 0 0 0 0 0 0 0
LEx vy 70,499 7,236 7,442 7,652 7,866 8,036 7,690 7416 7,205 7,048
& A TR FE 10,041] 10,243] 10449 10659 10873] 11,002 11,315 115542 11,774 12011 109,999
BEEX vy a 60,458] -3007] -3007] -3,007] -3,007] -3056] -3625] -4,126] -4569] -4.963
Xyl 1 JO0—REt 60,458] 57451] 54444] 51437 48430 45374] 41,749] 37.622] 33,053] 28,089
Bt
7'=FvyY270- (HEFrya) ~120,000 [ 70,499 7,236 7,442 7,652 7,866 8,036 7,690 7,416 7,205 7,048 138,088
IRR 4.43%




